Verbal Ability Sentence Rearrangement Questions and Answers

Question- 1

You are required to rearrange these parts, which are labsiled P, Q. R and 5 to produce the correct sentence.
[P)in the benefits of expanding markets for

(T1) the new agricutture of high-value activities

(R} Commercial smaliholders deliver

(5} surpluzes to food markets and share

(&) REPO

{8} QsRP

(€] PSOR

{D} ROSP

Ans: A&

REPO

Question: 2

You are required to rearrangs these parts, which are labelied P, Q. R and 5 to produce the correct sentence.
[P) is viable or successful

{Q) that a company

(R} The purpose of advertising is

[5) to reassure employees or shareholders

A} ROSP

(B} RPSC

{C) QPRS

(D} RSQP

Ans:D

R3OP

Question: 3



You are required to rearrange these parts, which are labalied P, Q. R and 5 to produce the correct sentence.
[P) is regarded as an enduring symbol

{Q1) ane of the world's greatest cultural monuments

(R} of ancient Greece and of Athenian democracy and

[5) The Parthenon

(&) SPRO

(B} RPSO

{C) QPRS

(O} PROS

Ans: A

SPRO

Question: 4

You are required to rearrangs these parts, which are labelied P, O, R and 5 to produce the correct sentence.
{P) through their work capacity and help

{Q) The employee management tools track

(R} to differentiate between the skilled, semi-skilled and the unskilied psoplis

[5) the efficiency of the employees

(A} RPSQ

(B} SPROQ

[C] ROSP

(D} QsPR

Ans:D

QS5PR

Question: 5

You are required to rearrange these parts, which are labslled P, O, R and 5 to produce the correct sentence.

(P} about 40% of Indians had first-hand experience



[Q) Transparency International reports
(R} of paying bribes or using a contact

{5) to get a job done in public office

(A} SPRQ

(B} SPOR

{C} QPRS

{D] ROSP

Ans:C

QFRS



